M| METALLICS

6 FT MERCHANDISER
COMPETITOR CROSS REFERENCE

I
u
o :
2
"
Z)




] METALLICS

6 FT MERCHANDISER COMPETITOR CROSS REFERENCE

UPC W/ MINERALLAC/

ANCHOR TOGGLER SNAPSKRU REG ANCR KIT (TRAY) 63972078445 WDK8N 39333 2348 SN1KJ

€620 GROUND CLIP SIZE 10/12/14 GREEN STEEL ZINC 63972016100 T1434TB 80011 GRCJ 6C10J
(CLAM 100)
ANCHORS 1/4X1-1/4 HWH BLU ST-ZN (JARL00) 639720871104 14H114 6032NDJ 3902J CSH14114)
ANCHORS 3/16X1-1/4 HWH BLU ST-ZN (JAR100) 639720871012 36H114 60120NDJ 3802J CSH316114
CSH20F ANCHORS 1/4X1-3/4 HWH BLU ST-ZN (JAR 100) 639720871203 14H134 60328NDJ 3903J CSH14134J
CSH30F ANCHORS 1/4X2-1/4 HWH BLU ST-ZN (JAR 100) 639720871302 14H214 60336NDJ 3904J CSH14214)
o ANCHORS 10 DR-TYPE TOG ANCR PLAS, ST-ZN KIT 639720332759 » 239926, » _
(CLAM 50)
SCREWS 370-PC 6-32 FH SL MS KIT ST-ZN (TREY 1) 639720102635 632 39541 - AKFH632
GROUND SCREW10-32 X 3/8 HWH CD GREEN STEEL
- ot 639720161106 1032GG 80006P 1032X38GGST23)  GSF1038)
_ ANCHORS 1/4-20 MS LEAD ANCR (JAR 100) 639720808506 MAS 60212 8812J MSA14J
_ ANCHORS 3/8-16 MS LEAD ANCR W/TOOL (JAR 50) 639720808520 MA7 60216 8816J MSA38J
_ ANCHORS SPRG WING TOGBT SLPH 3/8" 4" (JAR25) 639720812206 : : : :
_ ANCHORS SPRG WING TOGBT 1/8" #6 3" (JAR 50) 639720808162 TBC83 58149 5033 M183J
_ ANCHORS SPRG WING TOGBT 3/16" #103" (JAR50) 639720808186 TBC363 58349 5133 M3163J
_ ANCHORS SPRG WING TOGBT 3/16" #10 4" (JAR50) 639720103977 TBC364 58365 5143) M3164J
HNEHOIE SPRE W'NG_,‘T..OSﬂ EE')SLPH 1/4"TRD20LGT 439770103991 TBC43 58549 5233 M143J
FNEHORE SPRE W'NGJOE,BALT;;)SLPH 1/4"TRD20LGT 439750103984 TBC44 58565 5243) M144J
12513 ANCHORS 1/4 X 1-3/8 SLVANCR &AC ST-ZN (JAR 100) 639720808834 SA14138 61413 2513J SA14138)
BOLTS 1/4-20 X 3/4 HXBT ST-ZN (JAR 100) 639720806120 55012 14X34HBG2Z  HCS1434J
BOLTS 1/4-20 X 1 HXBT ST-ZN (JAR 100) 639720806137 MB141 55016J 14X1HBG2Z HCS141J
JBHC23 BOLTS 3/8-16 X 1-1/2 HXBT ST-ZN (JAR 100) 639720806342 MB38112 55424 38X112HBG2Z  HCS38112
BOLTS 3/8-16 X 1 HXBT ST-ZN (JAR 100) 639720806328 MB381 554161 38X114HBG2Z  HCS38LJ
JBHC59 BOLTS 3/8-16 X 1-1/4 HXBT ST-ZN (JAR 100) 639720806335 MB38114 55420J 38X114HBG2Z  HCS38114
ANCHORS 1/4 DBL EXPAND ZN-AL (JAR 100) 639720808728 DEAL4 DE14 . DES14J
ANCHORS 3/8 DBL EXPAND ZN-AL (JAR 50) 639720808742 DEA38 DE38 : DES38J
ANCHORS DROP-IN 1/4"-20 LGTH 1"(JAR100) 639720818703 DA25 60402 6325J SDIAL4
ANCHORS 3/8-16 DROP-IN ANCR ST-ZN (JAR 50) 639720818758 DA38 60404 6337J SDIA38J
SCREWS 12 X 1 IH HX 5/16HD SLTS ST-ZN (JAR 100) 639720803044  HWSMS121 77216J 12XIHWHSTSZ)  DS121J
SCREWS 10X 1/2 IH HX 5/16HD SL TS ST (JAR 100) 639720802955  HWSMS1012 77008J o DS1012J
10X34H-
SCREWS 10 X 3/4 IH HX 5/16HD SL TS ST (JAR 100) 639720802962  HWSMS1034 77012J Py DS1034J
SCREWS 10 X 1 IH HX 5/16HD SLTS ST-ZN (JAR100) 639720802979  HWSMS101 77016J 10XIHWHSTSZ) ~ DS101J
JDS183 SCREWS 10 X 1-1/4 IH HX 5/16HD SL TS (JAR 100) 639720802986  HWSMS10114 77020J aoxLLar DS10114J
SCREWS 10X 1-1/2 IH HX 5/16HD SL TS (JAR 100) 639720802993  HWSMS10112 77024J aoXLLaH DS10112J
JDS185 SCREWS 10X 2 IH HX 5/16HD SLTS ST-ZN (JAR 100) 639720803006  HWSMS102 77032J 10X2HWHSTSZ)  DS102J
SCREWS 6 X 1 BGL PH FT DWS ST-BP (JAR 100) 639720803877  DWSBX61 79616J 1DSFTJ DW6LJ
JDWS3C SCREWS 6 X 1-1/4 BGL PH FT DWS ST-BP (JAR 100) 639720803884  DWSBX6114 79624 114DSFTJ DW6114J
SCREWS 6 X 1-5/8 BGL PH FT DWS ST-BP (JAR 100) 639720803891  DWSBX6158 79626 158DSFTJ DW6158J



JDWS5C SCREWS 6 X 2 BGL PH FT DWS ST-BP (JAR 100)
JFM63 SCREWS 6-32 X 1 FH SL MS ST-ZN (JAR 100)
JFM82 SCREWS 6-32 X 1-1/2 FH SL MS ST-ZN (JAR 100)
JFM83 SCREWS 6-32 X 2 FH SL MS ST-ZN (JAR 100)

JLW172 WASHERS 1/4 SPLIT LOCK ST-ZN (JAR 100)

JLW174 WASHERS 3/8 SPLIT LOCK ST-ZN (JAR 100)

JLW175 WASHERS 1/2 SPLIT LOCK ST-ZN (JAR 100)
JN159 NUTS 6-32 HX NUT ST-ZN (JAR 100)
JN160 NUTS 8-32 HX NUT ST-ZN (JAR 100)
JN162 NUTS 10-32 HX NUT ST-ZN (JAR 100)
JN163 NUTS 1/4-20 HX NUT ST-ZN (JAR 100)

JN165 NUTS 3/8-16 HX NUT ST-ZN (JAR 100)
JN166 NUTS 1/2-13 HX NUT ST-ZN (JAR 50)

JNA141 ANCHORS 1/4 X 1 HMMR NAIL-IN ANCR ST-ZN (JAR 100)

J

JRM1

R

B

ANCHORS 10--12 X 1 RED WALL ANCR PLAS (JAR 100)

JRM100 SCREWS 1/4-20 X 3/4 RH CD MS ST-ZN (JAR 100)

SCREWS 1/4-20 X 1 RH CD MS ST-ZN (JAR 100)

SCREWS 1/4-20 X 3/8 RH CD MS ST-ZN (JAR 100)

o
x
=

SCREWS 6-32 X 1 RH CD MS ST-ZN (JAR 100)

SCREWS 6-32 X 1-1/2 RH CD MS ST-ZN (JAR 100)

SCREWS 6-32 X 2 RH CD MS ST-ZN (JAR 100)

JRM86 SCREWS 8-32 X 1 RH CD MS ST-ZN (JAR 100)

JRM88 SCREWS 8-32 X 1-1/2 RH CD MS ST-ZN (JAR 100)

JRM89 SCREWS 8-32 X 2 RH CD MS ST-ZN (JAR 100)

JRM99 SCREWS 1/4-20 X 1/2 RH CD MS ST-ZN (JAR 100)

JRSV37200 THREAD ROD 1/4 X 2 MTL V-MT ANCR ST-ZN (JAR 25)
JRWV37200 THREAD ROD 1/4 X 2 WOOD V-MT ANCR ST-ZN (JAR 25)
JSWT72 WASHERS 10 FLAT ST-ZN (JAR 100)
JSW73 WASHERS 1/4 FLAT ST-ZN (JAR 100)
JSWT5 WASHERS 3/8 FLAT ST-ZN (JAR 100)
JSW76 WASHERS 1/2 FLAT ST-ZN (JAR 100)
JTEK4P SCREWS 10X 1/2 PN PH TS D-PT2 ST-ZN (JAR 100)
JTEKD1 SCREWS 8 X 1/2 HWH 1/4HD TS D-PT2 ST- (JAR 100)
JTEKD18 SCREWS 10 X 1-1/4 HWH 5/16HD TS D-PT2 (JAR 100)

JTEKD2 SCREWS 8 X 3/4 HWH 1/4HD TS D-PT2 ST- (JAR 100)

[
x
=

JTEKD22 SCREWS 10 X 2 HWH 5/16HD TS D-PT3 ST- (JAR 100)

639720803907
639720801163
639720801187
639720801194
639720805864
639720805888
639720805895
639720804270
639720804287
639720804300
639720804317

639720804331

639720804348

639720809251

639720809312

639720800609

639720800616

639720800579

639720800265

639720800289

639720800296

639720800357

639720800371

639720800388

639720800586

639720318470
639720318623
639720805000
639720805017
639720805031
639720805048
639720803402
639720803457
639720803563
639720803471

639720803600

UPC W/ MINERALLAC/ '

DWSBX62 79632 2DSFTJ DW62J
FM6321 50116J 632X1FHSMSZJ) FH62J
FM632112 50124J) 632X112FHSMSZJ FH6112J
FM6322 50132 632X2FHSMSZJ) FH62J
LW14 40525J 14LWzJ LwW14J
Lw38 40535J 38LWzJ Lw38J
Lw12 40540J 121wz Lw12J
HN632 40105J 632HMSNZJ N632J
HN832 40110J 832HMSNZJ N832J
HN1032 40120J 1032HMSNZJ N1032J

HN14 40125J 14FHNUSSZJ N1420J

HN38 40135J 38FHNUSSZ) N3816J

12FH-
HN12 40140J NUSSZJ-50 N1213J
ZA100 59016J 27031 HDA141J
22 59412) 8579J =
RMC1434 53012J 14X34RHCMSZJ RH1434)
RMC141 53016J 14X1RHCMSZJ RH141J
RMC1438 53006J 14X38RHCMSZJ RH1438J
RMC6321 52216J 632X1RHCMSZJ RH61J
632X112RH-

RMC632112 52224) cMSZJ RH6112J
RMC6322 52232J 632X2RHCMSZJ RH62J
RMC8321 52416J 832X1RHCMSZJ RH81J

832X112RH-

RMC832112 52424) cMSZJ RH8112J
RMC8322 52432) 832X2RHCMSZJ RH82J
RMC1412 53008J 14X12RHCMSZJ RH1412J
SSw38B 59673J WVH7165J HMA3816WJ
SSw38B 61148) 7165 HMA3816WJ

FW10 40315J 10FWSAEZJ SAE10J
FW14 40325J 14FWSAEZJ SAE14J
FW38 40335J 38FWSAEZJ SAE38J
FW12 40340J 12FWSAEZJ SAE12J
TEKPH1012 83008J 10X12PHPTJ TKP1012J
TEKHW812 78808J 8X12HTJ TK812J
TEKHW10114 79020J 10X114HTJ TK10114J
TEKHW834 78812J) 8X34HTJ TK834J
TEKHW102 79032J 10X2HTJ TK102J

Continued on back



UPC W/ MINERALLAC/

SCREWS 10X 1/2 HWH 5/16HD TS D-PT2 S (JAR100) 639720803525  TEKHW1012 790081 10X12HTJ TK1012J
SCREWS 10 X 3/4 HWH 5/16HD TS D-PT2S (JAR100) 639720803549  TEKHW1034 790124 10X34HTJ TK1034
SCREWS 10X 1 HWH 5/16HD TS D-PT2 ST- (JAR100) 639720803556  TEKHW101 790164 10XIHTY TK101J
SCREWS 12X 1 HWH 5/16HD TS D-PT3ST- (JAR100) 639720803624  TEKHW121 792164 12X1HTY TK121J
THREAD ROD 3/8 X 1-5/8 CONCV-MT ST-ZN (JAR25) 639720318685 SsC388 596781 7173 :
SCREWS 6X 1 PN CD TS ST-ZN (JAR 100) 639720801675 2WS61 18617J 6XLPHCTSZJ TS61J
SCREWS 8X 1/2 PN CD TS ST-ZN (JAR 100) 639720801729 2WS812 18809 8X12PHCTSZJ  TS812J
SCREWS 8X 1 PN CD TS ST-ZN (JAR 100) 639720801750 2WS81 18817J 8XIPHCTSZJ TS81
SCREWS 10 X 3/4 PN CD TS ST-ZN (JAR 100) 639720801835  2WS1034 19013 10X34PHCTSZ) ~ TS1034J
SCREWS 10-12 X 1 PAN HD CBO SELF-TA (JAR 100) 639720801842 2WS101 19017 10XIPHCTSZJ  TS101J
SCREWS 10X 1-1/2 PN CD TS ST-ZN (JAR 100) 639720801866  2WS10112 19025 OX112PHCTSZJ  TS10112J
WASHERS 1/4 X 1 FENDER ST-ZN (JAR 100) 639720805369  FENW14L 407204 14X1FWZ) FW141J
WASHERS 1/4 X 1-1/4 FENDER ST-ZN (JAR 100) 639720805376  FENW14114 40725 14X114FWZ)  FW14114J
WASHERS 1/4 X 1-1/4 FENDER ST-ZN (JAR 100) 639720805376  FENW14114 40725 14X114FWZ)  FW14114J
WASHERS 3/8 X 1-1/4 FENDER ST-ZN (JAR 100) 639720805437  FENW38114 40743 38X114FWZJ  FW38114J
SCREWS 8X 1/2 WFR PH S-DRDWS ST-ZN (JAR100) 639720804140  TEKWS12 26809 8X12PPWTJ Scw812J
SCREWS 8 X 3/4 WFR PH S-DRDWS ST-ZN (JAR100) 639720804157  TEKWS34 26813 8X34PPWTJ SCW834J
SCREWS 8X 1/2 WFR PH S-PT DWS ST-ZN (JAR100) 639720804119 KWS12 14809 812WHPSPTSZ)  PDW6716J
WEGINIEIIC RV SETTE?ISPIC/) "DRILL CHUCK1-3/4" 639770108705 TS 39004D MSH14 MBHN14
MAGNETIC NUT SETTER 5/16” DRILL CHUCK 1-3/4” (1PC) 639720108712 MT10 39005D MSH516 MBHN516
MAGNETIC NUT SETTERS 3/8" DRILL CHUCK 1-3/4" (IPC) 639720108729 MT38 39006D MSH38 MBHN38
GROUND PIGTLY ;’T*lzzlﬁg'(é%;(Nﬁ)%')-ATED COPPER 439720160055 GP650 80018 GPT14 PT14
ROD COUPLING 1/4-20 HX ST-ZN (JAR 50) 639720217056 RC1 59604 14RCZ) RC14J
ROD COUPLING 3/8-16 HX ST-ZN (JAR 50) 639720217155 RC2 59606 38RCZ RC38J
SELECT-A-DRILL 13 PIECE (1PC) 639720245202 DBI3K 91801 SAD21

SCREWS 6-32 X 1/2 OV SL WALL PLT ST-ZN (CLAM 100) 639720163209 414WHT 51109 SPEWY
SCREWS 6-32 X 1/2 OV SL WALL PLT ST-ZN (CLAM 100) 639720163254 4141V 511081 632X121PSJ SP61J
WASHER KIT 485-PC FLAT ST-ZN (TREY 485) 639720105070 FW2 39518 FWKIT AKSAE
ANCHORS SUPER WALLPLATE SCREW KIT (TREY200) 639720203608 APS1 39508 PSKIT :
ANCHORS 10 COBRA TRIPLEGRIP ANCRKIT (CLAM200) 639720726695 TG10K : 8710WL :
ANCHORS 8 X 1-1/4 S-DR WALL ANCR KIT Z (JAR 50) 63972020710 WDKS 39915/39940J 2349 SN2ZKJ
ANCHORS 1/4 RED PLAS WALL ANCRKIT, 10 (JAR200) 63972020575 K6CO 39820 8711E/8711E)  HPAKIAL
ANCHORS 1/4 YEL PLAS WALL ANCR KIT, 10 (JAR200) 63972020650 24K 39763 8715E/8715ES  MXK14J
GROUND SCREWL0-32X 3/8 HWH CD GREEN STEELZINC (JAR100) 63972082080 103266 800064 1032X386GST23)  GSF1038J
GROUND CLIP SIZE 10/12/14 GREEN STEEL ZINC (JAR100) 63972016100 7143478 80011 GRCJ 6C100
ANCHORS 6--8 S-DR WALL ANCR KIT NY (JAR 100) 63972020705 WDK8N 39921/39920J 2348 SNIKJ
ANCHORS 5/16 RED PLAS WALL ANCRKIT, COMBO SCREW (JAR100) 63972020605 K14C 39822/39822J 8722E :

] METALLICS

©2024 NSI Industries nsiindustries.com m SJ

MET_XREF6FTDISPLAY_FST_PRODXREF_0624 800.321.5847



